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Unit 3 Test Review

Simplify by doing the indicated operation.
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Find all the roots of the given polynomial, then write the equation in factored form.

12. fx)=x3+x2—4x—4
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Use the given information to find all the other information for each polynomial.

14.

Function in factored form:
2
W=\ (R-3) X+ D) %
Function in standard form:

Y= x" - x3-lox
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Use the given information to find all the other information for each polynomial.

15;

Function in factored form:
y=-2x(x+1)(x—2)
Function in standard form:

Y= -2,(3 y2y* +ix

End behavior:
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X=0,-1,1
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